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1. @efe Ry @ e
. Torfiw fo srlion w0 e wnfem et &1 sifter Tooae AT,
¥, (g9l M ATT0EER HagH & Jhd 18l
%, Tsogud T T fosromer ==t 819 w1,

gier fauTiieh! i@ I 38 7

(1) wsa A (2) FamT S
(3) ¥ 27T % 4) olie gd
Consider the following statements :

a. The Rajyasabha does not have the power to reject or revise the financial
bill.

b. Rajyasabha can not vote on the demands of grant.

c. Annual financial statement in the Rajyasabha may not be discussed.
Which of the above mentioned statement is correct ?

(1) Onlya (2) aandb

(3) bandc (4) All above

2. TSI TSI GTEAeTich] HIVITE JEEEA gee Tohard ?
(1) TSY Arpaal ST 3Tee
(2) T ARUGT AT TG
(3) TS AFATIEHR AN 37eas
(4) e HroTTerTE AT
The Governor of the State can remove which of the following ?
(1) The Chairperson of the State Public Service Commission
(2) The member of the State Public Service Commission
(3) The Chairperson of the State Human Rights Commission

(4) None of the above

HeeHl HIHHTE! AR / SPACE FOR ROUGH WORK P.T.O.
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3. AR TegHediet HrEtedA e fawe dadeedid Trefierit Sivd faum e amg ¢

(1) TSTERAHT 2 1 WG HETEEH TNECHTd e Sheted! TR,

(2) e 343 T 351 Aed HECRIA wEgTde atqdt fegm Fam.

(3) ceHrRl ferdmer ferdiett oM & € SHemmear=h wrEiera wmn e,

(4) G BRI Bl ATRTEE VR TEITTHS JTEY ¢ ST FEa=d 3.

Which of the following statement is incorrect regarding the provisions about

official language in Indian Constitution ?

(1) Part XVII of the Constitution deals with the official language.

(2) Articles 343 to 351 deals with the official language.

(3) Hindi written in Devanagari script is to be the official language of the
union.

(4) The form of numerals to be used for the official purposes of the union
has to be the Devanagari form of numerals.

4. <1 Uren fadfingest el gF 9UTR oTed, e aivss WHETETE T S e
HI TITE B e I, I {99 hae THd q9E Sd d =g
FSES .

(1) Taum uftse, faume, fouman
(2) Tareme, faurme, fam aftrg
(3) Toamaw, faum uftwe, fEumen
(4) o afteg, fovum dfeee, faummn

Where there are two houses of the Legislature of a State, the upper house shall
be known as the and the lower house shall be knownasthe _ and
where there is only one house, it shall be known as the

(1) Legislative Council, Legislative Assembly, Legislative Assembly

(2) Legislative Assembly, Legislative Assembly, Legislative Council

(3) Legislative Assembly, Legislative Council, Legislative Assembly

(4) Legislative Council, Legislative Council, Legislative Assembly

el THIHTEG! AT / SPACE FOR ROUGH WORK
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5. sl A Wielerdht v fawam=n e o 2
. TEIME REdere wan,
q.  IR-USE A4 0 A @ foe.
%, FWOR ST qEATS HTRTOT,
3. W aren gl @mht sufr afis faeme frefa wo.
(1) 31, 937 s (2) 9, FATE
(3) & afrg (4) aOIh w4
Which of the following are included in the union list ?
a. Sanctioning of cinematograph films for exhibition.
b. Development of inter-state rivers valleys.
c. Protection of wild animals and birds.
Regulation of mining and mineral development in the public interest.
(1) a, bandd (2) b,candd
(3) candd (4) All above

6. =TT SEUTEEH! S faeg wicfier vt g gt wea teame’ Fui e g 2
3. TS TWHR (U9, ggrErean e
A T AT, TR Wi
%. AHIHl A, FEITRET A9E
2. T HeET, e qrds o9
(1) 37 3700 9 Fard (2) ¥ 37 & BT
(3) @ I Fad (4) 3, § 7T % BF
Nana Phadnavis created the ‘All India State Union’ of the following ruler’s against
the British.
a. Maratha Sarkar (Peshwa), Nizam of Hyderabad
b. Hyder Ali of Mysore, Nagpurkar Bhosale
c. Nawab of Arcot, Nawab of Chandrannagar

d. Mahan Singh of Punjab, Martand Verma of Travancore

(1) aand b only (2} b and c only
(3) candd only (4) a, band conly
THoAT RIS JAT / SPACE FOR ROUGH WORK P.T.O.
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¥, Wl 3T e

%, Il T YT FEEE Sl

T IS USEdg 99 U S STel

(1) A, § 3701 & S (2) & I % B
(3) 4, & MM T Hard (4) = M E ®F

Which of the following statements are correct about the impact of British imperial
power on the lives of Indian People ?

a. Indian Industrialization was increased

b. Decline of cities

c. Agriculture became the main occupation

d. British rule attempted to social reforms

(1) a, bandconly (2) b and c only

(3) b, candd only (4) candd only

8. THE AT 9] SRENIE Qo IeAdeh] shivd fag™ woiferss &
. wud Fomd, s|a g9, e srhs
¥, I7ege @M @F @M, I FHe, 39 Heft
F. ARG, S qiewd, T faige

T. TN HHEE, Hg-G1-T, §hH FAW

(1) 31 37T § we

(2) & 3T % e

(3) o, % 3T € B

(4) 3, & I € Ferd
Which of the following scholars were present in the Emperor Akbar’s Navratna Court ?
a. Hasan Nizami, Abul Hasan, Siraj Afiq

b. Abdul Rahim Khan Khana, Abul Fazal, Sheikh-Faizi
c. Tansen, Raja Todarmal, Raja Birbal

d. Raja Man Singh, Mulla-do-Pyaza, Hakim Humam
(1) aand b only

(2) bandconly

(3) b, candd only

(4} a, candd only

THeedl hIATETS! ST / SPACE FOR ROUGH WORK
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9. AU Rra HERRT= ST TSI U 9 S<H] HET=al A7 el Je5al

g wmE

H. FHE {. T

5. @alya ii. TS STIER 9IE0

%. HA iii. TATET ARG qTE0)

3. gEd iv, TeAfas FeTegrRl IR wse
K | ® £

(1) iv i iii i

(2) iii i iv ii

(3) ii iii i iv

(4) iii iv ii i
Match the correct pairs of posts and their works in ‘Ashtapradhan Mandal’ of
Chhatrapati Shivaji Maharaj.

Post Work
a. Amatya i. Work of Rajpatra
b. Sachiv ii. To deal with Foreign Affairs
c. Mantri iii. To deal with State Expenditure
d. Sumant iv. To deal with responsibility of Political Affairs

a b c d
(1) iv ii iii i
(2) il i iv ii
(3) ii iii i iv
(4) iii iv ii i

10. ¥ YR SRfEdd (1772 9 85) YEeidsh! St Teietelt S ggell adt 7

HA. UEeTEe T

§.  AGHHAT BTEf

. AT T

T, AT SHS TR

(1) 3 amftr & %a (2) & 3o 6 W
(3) &, % AT € B 4) I wd WA

Which of the following famous cases occurred during the reign of Warren
Hastings (1772 to 85) ?

a. Rohilkhand case

b. Execution of Nandkumar

c. Chetsingh case

d. The Awadh Begum'’s case

(1) aand b only (2} b and c only
(3) b, candd only (4) All of the above are correct
THoodl HINTETS! SIFT / SPACE FOR ROUGH WORK P.T.O.
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11, STGTAY QiAo ST Fifetre (1)) o= 9e g aToer Sl ?
(1) w@rh (2) T
(3) wufedt (4) wEeE
In biological systems for transaction of energy; which of the following molecule
act as a currency ?
(1) ATP (2) Glucose
(3) NADP (4) FAD
12. WAl v auff qafater Giae wEe WRag A e ?
(1) 1982 (2) 1986
(3) 1985 (4) 1981
In which year Environmental Protection Act came into existence in India ?
(1) 1982 (2) 1986
(3) 1985 (4) 1981
13. ST e AR, EEd! S JTEEeTEd! ek deardl STEvEhdl 3.

TTATATH! I AT Teh THEAA A STETIH ST &7 T Teshial 99 A= 7

(1) =, e, drie

(2) T, WS, AN

(3) ECIH, HIEHE, AT

(4) @ETeE, Fehet, #E

The plants need nutrients for their survival, growth and reproduction. Which

of the following sets of nutrients is not a set of micronutrients required to the

plants ?

(1) boron, zinc, manganese

(2) copper, molybdenum, chlorine
(3) nitrogen, phosphorus, potassium

(4} cobalt, nickel, iron

oAl SIS AT / SPACE FOR ROUGH WORK
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14, = isfien st e aned samed o geed 1 wifReel aegesies
TS 3THATd o Jufiefier werel q=auang e e,
(1) Sl T (2) s
(3) wEEE (4) HgrE=
The are the suicide bags of the cells which contain more than a dozen
powerful hydrolytic enzymes capable of digesting the substances in the cell.

b XS

(1) secretory granules (2) plasmosins

(3) lysosomes (4) centrosomes
15, WiAcdeh! HITAT YEoa TaEes avia qeq @l ?

(1) wIwHeE (2) SEfhSEEAT

(3) HERhIHH (4) WEHARwE

Which of the following is not a probiotic microorganism ?

(1) Lactobacillus (2) Bifidobacterium

{3) Streptococcus (4) Staphylococcus
16. ‘ST : {L YT A1 TR e S Ho ?

(1) oo e (2) HEE BrEh!

(3) =fds farsnm (4) TR

Who is the author of Hindi book ‘Lata : Sur Gatha’ ?

(1} Jiwesh Nandan {2) Faizal Farooqui

(3) Yatindra Mishra (4) Gulzar

17. SCEEE hEs A6 fBen fpfesd (FIPRESCI) gR iU fede SASeET Taiepse qHdE
fomge v MfYe wwa aen AR 7
(1) Foe-u- e (2) 3T
(3) amrfrat (4) TR uTETet!
Which movie has been declared the best Indian Film of all time by the
International Federation of Film Critics (FIPRESCI) ?

{1) Mughal-E-Azam {2) Anand
(3) Aparjito (4) Pather Panchali
HoH] HIHTATST ART / SPACE FOR ROUGH WORK P.T.O.
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18. Y@ T TCierredT Uh! Neshld FgUat MRS = Al 2022 el O ShR AR ?

(1) o (2) foran

(3) TEH-aAwET (4) T f&m

Ruturaj Gaikwad hit seven sixes in a single over of which of the following bowler

in November 2022 ?

(1) Shivam Sharma (2) Shiva Singh

(3} Shivam-Mavi (4} Rinku Singh

19. FarmHd fher Fedhy-2022 =1 IgaTed FARYId Wiare Wit Soft Het ?

(1) ST aE (2) A AR
(3) TNIERE SrEEd 4) TSaR fm
Who represented India at the inauguration ceremony of FIFA World Cup-2022
in Qatar ?
(1) Jagdeep Dhankhar (2) Narendra Sing Tomar
(3) Gajendrasing Shekhawat (4) Rajkumar Singh
20. 2023 = 19 =91 wnies el Tyl 3me 2023 T8 9 JRTE vET
I 3TEA.
(1) g (2) FEUE
(3) weAfEeh! (4) <R

2023 World Athletics Championships, 19" championships are scheduled to be
held in August 2023 in

(1) Paris (2) Budapest
(3) Helsinki {4) Tokyo

21. iy ofers @ o= foreT oo T, 3TN, AT AR AfTFET 202 1 R Heted]
2021 ST Pt TEne) o yesh fae,

(1) 65 (2) 68
(3) 72 (4) 57

Anshu Malik won silver medal in women’s kg. event at the 2021 World
Wrestling Championships held in Oslo, Norway in October 2021.

(1) 65 (2) 68

(3) 72 (4) 57

THeedl HIATHTS! ST / SPACE FOR ROUGH WORK
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22. Ry wefiet 5 3w defiex 2022 <A1 gew el sifan wl wioft freeeft 7
(1) #fienra fergsft anfor ey o9
(2) e et anfr ofcrs et R
(3) Tormmr 9t anfr anfers wrvs WARE
(4) oEg ¥ T T o
Who won the men’s doubles final of the French Open Badminton 2022 in Paris ?
(1) Srikanth Kidambi and Lakshya Sen
(2) Srikanth Kidambi and Satwik Sairaj Rankireddy
(3) Chirag Shetty and Satwik Sairaj Rankireddy
(4) Lakshya Sen and Chirag Shetty

23. 67 =1 TheahaR JEhRITE e fiehd (Hfgel) Halepse AT [ Hivl ke ?

(1) forelt d (2) Fpam seamf

(3) #Hl Y (4) fedfieer argahrm

Who won the award for the best actor in a lead role (female) at the 67" filmfare
awards ?

(1) Kriti Sanon (2) Kiara Advlani

(3) Shraddha Kapoor (4) Dipika Padukone

24. T T ST S S SRR A 3 e ST AR g e 7
(1) 3R gseer st f &, Feftar
(2) . arRmm anfor e gt
(3) AW, FFHET A % Fdt
(4) . FAfEm o 6., = Fee
Which Indian Chess players won the open and women’s titles respectively in
the Asian Continental Chess Championship ?
(1) R. Praggnanandhaa and P.V. Nandhidha
(2) B. Adhiban and Koneru Humpy
(3) R. Praggnanandhaa and Koneru Humpy
(4) B. Adhiban and P.V. Nandhidhaa

T ShIHTETS! SR / SPACE FOR ROUGH WORK P.T.O.
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(1) 3w (2) TuTEH
(3) B * (4) =R

Which State has emerged as an overall team Champion of the North East

Olympic Games 2022 ?

(1) Assam (2) Meghalaya
(3) Tripura (4) Manipur
26. TR 9 g woE AR 7
(1) wdfex (2) et o Eft
(3) feet (4) faz
Unit of entropy is
(1) cm (2) calories per degree
(3) kg (4) liter

27. SEERA (B,Hg) &
. FHH IONFRE STESAT WA 318
q, W oY STl THII] 3R
%. Tl 99 STHcien WA 378

g, Sfeet gy M

Flfersht v o /foam ste 3eg 7

(1) o1 Hed (2) ‘3 i ‘F wad
(3) @r, ‘% i ‘T ww (4) ‘¥ Hd

Diborane (B,H) is

a. electron-deficient molecule

b. electron-rich molecule

c. three-centered bond molecule

d. complex molecule
Which of the statement/statements given above is/are correct ?
(1) ‘@’ only (2) ‘@’and ‘¢’ only

(3) ‘@’ ‘¢’and ‘d’ only {4) ‘D’ only

THeAT HITETS! SR / SPACE FOR ROUGH WORK
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28. i wfkar Ofra (3gee) wonelt well fohen STE@ece wonel Ted @d foem _ Wi
TEVTA.
(1) I | - (2) ward
(3) |HWIEh (4) T
A process that takes place in an insulf;\ted or isolated system is an ________
process.
(1) adiabatic (2) isothermal
(3} 1isobaric (4} isochoric

29. FHUIH FHIAWH Hlgad

(1) g (2) wemr (3

(3) TRR (4) T FHowE! AR
Carotine [Carotene] is isolated from

(1) Cauliflower (2} Potato

{3] Carrots (4) None of these

30. uHAlsEATiEw s fammarh wran s =
(1) S IRSGHET T HTAT
(2) o qREdaTET TR S
(3) AT RS 3T HIa
(4) 2 g AT
Thermodynamics is a branch of science which deals with
(1) energy transformations
(2) gas transformations
(3) mass transformations

(4) none of these

THeedl HITEIS! SRT / SPACE FOR ROUGH WORK P.T.O.
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31. s g :
TE! BTl TR THIER THIUT (%)
H. Iy i. % 30%
¥ Tagfmw ii. 50%
%, fopamse jii. 40 80%
5. i . 95%
H q <h g
(1) i iii ii iv
(2) il ii i iv
(3} iv i it iii
4) iv iii ii i

Match the following :

Types of coal Carbon Content (%)
a. Anthracite i. Only 30%
b. Bituminous ii. 50%
c. Lignite iii. 40 to 80%
d. Peat iv. 95%
a b c d
(1) i iii ii iv
(2) i i i iv
(3) iv i i iii
@) iv iii i i

32. WEAledshl Five & fEaad=n T=em FHHs TR g ?

(1) @ (2) U TR

(3) foard (4) gHfem

Which of the following land feature is created due to the depositional work of
Glacier ?

(1) Cirque (2) Roche Moutonnee

(3) Fiord {4) Drumlin

e hIHTHIS! AT / SPACE FOR ROUGH WORK
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33. YIIETde A9ERe, FETw 3 s@fire @ i siven svftg sewdaa ¢

3. =g wvfia

g, gdrE v

®. fgdig sofrg

B, o At

FheTdehl HivTd I T IR 7

(1) A S wed (2) & e
(3) = ®ad (4) S Bl

In which grade the processes of Landform like erosion, deposition and residual
are found ?

a. Fourth grade

b. Third grade

c. Second grade

d. First grade

Which is correct answer ?

(1) aand b only (2) b only

(3) conly (4) donly

34. il A Gefeds SR Tt IR s o ?
. o IR I I\
. o 9 fEedr st
. oA AT W9 HEd
S

. 3T T ITEard
(1) ®HS
(2) =
(3) &AM H
(4) ®3nE

Which of the following physical features of pigmi people are right ?
a. They are over heighted

b. Their colour is yellowish

¢. Their nose is flat

d. Their lips are slim

(1) onlyd
(2) aandb
(3) bandc
(4) candd
ool FHIMTATE! ST / SPACE FOR ROUGH WORK P.T.O.
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35..éawaﬁ:%ﬁa?ﬁ"ﬁ?mmﬁeﬁmmﬁwﬁ 7

(1) 25 feag 5 (2) 27 fega 7 T

(3) 30 fezw 3 7™ (4) 35 feew 2 99

What is the time required by the moon to revolve around itself ?
(1) 25 days 5 hours (2) 27 days 7 hours

(3) 30 days 3 hours {4) 35 days 2 hours

36. @relioreh! HIvr e sk e ¢
(1) TEH ¥ TF WG 37,
(2) wieH faga T fRr Fwam Ted #.
(3) ieH B Soew Ty amR.
(4) ™2 ? A fameren fefee fameme wqata st fhan am=an Ieed! .
Which of the following statement is correct ?
(1) modem is a software.
{2) modem helps in stabilising the voltage.
(3) modem is the database system.
(4) modem converts analog signals into digital signals and vice versa.

37. B Wb ATHA Sl T gEE.
(1) = (2) Teefregdi
(3) gl (4) wreEH
refers to the variation in the packet arrival time.
(1} Jitter (2) Delivery
(3) Accuracy (4) Medium
38. Qe ETeAT ThITed] UH=Al el S[eal
a. TEHE UH (Masked ROM) i. ﬁmmﬁﬁg@m
b. ¥ (PROM) ii. FREE THher fordiel W
c. 39| (EPROM) iii. rfafrer wewrem fiefos s
d. | (EEPROM) iv. Tehgra fodiar A Wy FREI IEIETE
HET ‘h%f T ferdieret Tua
Match the following type of ROM and their characteristics.
a. Masked ROM i. Erased using electrical signal
b. PROM ii. Written once, at the factory
c. EPROM iii. Erased with UV light
d. EEPROM iv. Can be programmed once, but comes

unprogrammed from factory
a b c d

(1) i i iv i
(2) i v i i
(3) i v idil
(4) ii i i v
AT HIWTETE AN / SPACE FOR ROUGH WORK
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39. WM WHed A ThTd ded! TEaeiet] T FAUfa 3-0e T3 oS &1 7

-t

(1) = (2) ==
() % (4) @
State an unwanted email message sent to many recepients in bulk
(1} Spam (2) Virus
{3) Threat (4} Worm
40, Trdran a9 uften R S favase TR ST IR @R Y GreEushl Hivd ?
(1) M S (2) T TR
(3) I (4) T
Encyclopedia of educational content created by Media Lab Asia is known with name
(1) gyan jyoti (2) gyan prakash
(3) gyanodaya (4} gyanpedia
41. AT O T AT T I,
(1) s (2) Fafa dwet
3) =& (4) ®
Speed of sound is maximum in medium.
(1) Gas (2) Vacuum
(3) Liquid (4) Solid
42, wrem (e adema © M = .
f D
) 5 (2) ra 2
D D
=1 =
@ 7 ) 1+7

Magnifying power of simple lens is M =

f D
1) 5 @ F+2
D D
=1 14—
@) % () 1+
TN SHIHTHIS! AW / SPACE FOR ROUGH WORK P.T.O.
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43. THAH I — T WEhTHIT qOTATS STed 3T,

(1) ST (2) <
(3) ot (4) fe
The wavelength of light is higher in the visible spectrum.
(1) Purple (2) Red
(3) Yellow (4) Green
44. @ fm

a. 1895 greft U I MY AT
b, I S g famE gEhiE av
c. RIS 9TH T HidTd

d. TEEERAH FEwMYT de TS

(1) a, b, c ST (2} a, b, d s
(3) a, b, ¢, d T 4) a,c, dsW
X-rays are

a. Discovered by Rontgen in 1895
b. High energy electromagnetic waves
c. Travel with velocity of light

d. Spontaneously emitted by the nuclei

(1) a, b, ctrue (2) a, b, d true
(3) a,b,c,dtrue (4) a,c,dtrue
45. qUENEw 49 S TR, AR & A1 TE) TEen (ea gl 3WRvara e HE.
(1) BT (2) TR
(8) = (4) W@
A huge radio telescope called GMRT has been setupat ____ near Pune.
(1) Aalephata (2) Narayangaon
(3) Manchar (4) Indapur

HeeAl HINETE! ST / SPACE FOR ROUGH WORK
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46. B, G, H, K, D, F, T3V IqT 33 SIth! Th! HEAT AT L, Tl {oegd 7o, feforag
g WREHAREH Rrepddra o1fr 7 feeeft, ga€, Hieremr, U=, wedr, Widmes, AR 3nfT 2euEre
FYT I HMRA. T A I hAH T H8 T7E. fram g amfn Srfta smeq i steamass
g% fowy fmpean.

G feoelilt =ft amg 3 < v Rrerad. H & &by TR o wor f fsfem frrag .
FeUETH] Hivfig) sohl WRATETE Rk A€, D g bl @EAlagH firead. G = fawy
fyepeaomtl 3= uHla =Rl SHierbreaTl R, D s BeUETes! 31 SN F g <Rl gesei
Az, V & =rh wieser i it D =9 fava fiad. B 9 T 95 SRhl @w@EkfasE
fipaama. WEATaEH Reraot v saeht Widtessl Ael. T € Skl AnTgeE Al

AT femaum=n Skl e e
(1) BT

(2) BTF

(3) BTK

(4) BHT

Eight persons B, G, H, K, D, F, T and V work as a teacher in one Institute.
Together they teach Mathematics (Maths), Physics and Chemistry and are from
Delhi, Mumbai, Kolkata, Ranchi, Patna, Bhopal, Nagpur and Hyderabad, not
necessarily in this sequence. Minimum two and not more than three teachers
teach each subject. '

G is from Delhi and teaches Maths. H is from Ranchi but doesn’t teach Physics.
No one from Hyderabad is teaching Chemistry. D teaches Chemistry. Only one
another person of G’s subject is from Kolkata. D is from Hyderabad and F is
from Mumbai. V is not from Kolkata and teaches D’s subject. B and T both
teach Chemistry. One who teaches Chemistry, is not from Bhopal. T is not from

Nagpur.
Select the group of persons who teach Chemistry.
(1) BT
(2) BTF
(3) BTK
(4) BHT
TS HTTETS! SR / SPACE FOR ROUGH WORK P.T.O.
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wafrgEs mfhhgseen 3faa watarh fag .

Al
4
K

(1) i ) i @) i 4) f ‘

Select the logically appropriate option to replace the question mark.

A
g4
Q] »

M i @ i @3 i ) %

PN

48.

T TSeaTae o 3Nasld, ITehe 9 Tiuhe eR Jueem 98l @edT P, Q, R, S, T9 U I
fee . Q o S fedien Tr srund @ieft el 3me @ @t S w1 S A, S anfor U =
Giear HuRsd TEfatg fewemn 3R, U 91 99 R o, €Roiehe ) 3wt Gl e
IR T T O IHHS R 3/eied! @it freredt 2R, SR P T T I Wowi=al @i deaied] @
U <=1 Il @ielt arema S weh e

() P (2) Q @) T (4} R

Six rooms on a floor in two rows facing North and South are allotted to P, Q,
R, S, T and U. Q gets a North facing room and is not next to S. S and U get
diagonally opposite rooms. R next to U, gets a South facing room and T gets
North facing room. If the rooms of P and T are interchanged then select the
person who possesses the room that will be next to that of U’s room.

(1) P (@) Q @) T (4) R

Tl IR SR / SPACE FOR ROUGH WORK

A
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49. 3T HIHT qHeATEE ST TERT TR, ST AT 3 S Aahie wae @y
Qe Wt F T d AT USHTR qRaen oial, <mge dudiEh i g snftr Fen e
T TR HArTd! Rrehad. FEATRET SHden TaieR FieR SgEe Hed CUATHTd! hivTcrd)
gEren it ah fadeg 79 S@ur TR B9 oed 9 @ wHedi Sl Gt 2. » oo
IR B 7 a1 LA G TAHHT Tt TS T Teum e and. ae
HeTdiet Tl JTEvETEE =T Y 3919 A, A Wew nfdwean AN aifeufadiarsa
ST BT
i Iferargrdie I 390 THR = FHOR feum e wiag Fasrn
(1) S=rsien TehAT TRRIfdehie HauHe RO @RE 3R a1 e a STamha 318
(2) <l Wieh T e S R ST W 3R A7 TETeRER 91 SR 3R
(3) IR W S Tl T} IETEOTEE HaHHT=A R Jiharg el 3178

(4) FSflad T BT AT UGl TIER HUATE] Halq 399 WEEEnt 38 A1 TEaweR al
i aTmg

Africa is well known in the World for its conservation tourism. It provides
natural protection for many endangered species and simultaneously provides
employment to people, creates wealth, and educate young generations for making
them environment literate. It is possible for any country to strengthen controlled
tourism for the sake of assisting general public to become environmentally
literate. Therefore tourism in the Arctic should be greeted. New shipping routes
are opening as a result of melting ice due to temperature rise and it is the good
opportunity for tourists. This should be done without further delay otherwise
people may have to participate in extinction tourism which will indulge them
in viewing endangered animals. Tourists thus will become aware about delicate
ecosystem of Arctic.

Select the one from following that best expresses flaw in the above argument.

(1) It is based on the assumption that all wildlife tourists are genuinely
interests in conservation of ecosystem

(2) Itis based on the assumption that some tourists are interested in observing
endangered animals

(3) Generalization is argued using only one successful example of
conservation tourism

(4) Itis based on the assumption that the wildlife tourism is the best
approach towards assisting people to become environment literate

Hoel HIHTATS! AN / SPACE FOR ROUGH WORK P.T.O.
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whl e e qued 99 30 a9 o2, 5@ ol 10 B Fea sread e
TR a9 T I ?

awfl : i "an fefe 9w 60 Ay,
i, faamma 50 FH= 3.
(1) et gl | Quft crsasdt g ii Savendt qeeh A
(2) o At i g el armf | S g
(3) e At 1 e ii SwoErd aft R
T T SaETd W AT

Study the question and data provided below it and select appropriate option
with respect to it.

Average age of employees working in department is 30 years. In the next year
10 workers will retire, what will be the average age in the next year ?

Data : 1. Retirement age is 60 years.

ii. There are 50 employers in the department.
(1} 1 alone is sufficient while ii alone not sufficient to answer
(2} ii alone is sufficient while i alone not sufficient to answer
(3) Either i or ii alone sufficient to answer
(4) Both i and ii are necessary to answer

51. TH d@w=AT Ad, FhAa € gearanedt 9@ 6. wwne e, wieEn, e, eaeed, SR,

TS ARG M= fopadt gore gean o Rt e %ﬁ?ﬁamﬁaﬁﬁn@aﬁ
BISA 3761 JfHIae o Fal. b b

g gFTETEER SR He A= el gue g @,
(1) forchorea T=3 1o goe B
BRG]
(3) G woien a&™ 0o 34 A
(4) wad umeht oRaa aredff B
According to one writer, price is not the same thing as value. He argues that on
the day price of everything viz., coal, bread, postage, labour, house rents were

to double. There will be definitely rise in the price but values of all thing would
be halved.

The writer argues that if prices of all things doubled

(1) The values of the things scld would be doubled

{2) The values of things would be constant

(3) The values of the things purchased would be halved
(4) The value of money only would be halved

oo HIATATS JATT / SPACE FOR ROUGH WORK

A
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52.
sl 11 99 gdeh! 1 Shell TEUH &M 36 UTfehe @G shefl. AT Saeaa et fshl weeh
AT B3I TS TV AR ASTEaTd TTihe TE! hedTes e Hiwelell et
Y fast.
(1) 132 %0 (2) 84 ¥
(3) 72 ¥R (4) 60 5
Packet of soup that Madhu always buy is usually costs Rs. 13 each. Last week,
the prices had been reduced to Rs. 11 each, so he bought 36 packets. This week
they are sold with ‘buy 2 packets, get another one free’ offer.
Select the more amount that Madhu paid for the packets he bought last week
that if he had bought them this week instead.
(1) Rs. 132 (2) Rs. 84
(3) Rs. 72 (4) Rs. 60
53. el fecioan sahdidie moelt 3+ Tor qeefl @ g sTpdidia B arfdy aucht 3+t I qeeiea
TR BT SARpATETS Frentey F=h St fRd I 2
(1) 16 (2) 06 (3) 10 (4) 26
In the following figure, if the middle vertical line is deleted, then what is the
difference between number of triangles in given figure and the figure obtained
deleting the middle vertical line ?
(1) 16 (2) 06 (3) 10 (4) 26
FHTI HIATEG! SIFT / SPACE FOR ROUGH WORK P.T.O.
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54.

P 3.
CK 16
0S 24
KM ?
(1} 14, 21
(2) 21, 14
(3) 56, 84
(4) 84,56

Find ‘?’
CK 16
0os 24
KM ?

(1) 14, 21
(2} 21, 14
(3) 56, 84
(4) 84, 56

9
19
?

19

JR
TX
PV

JR
X
3%

24

B17

585.

3T T IGA AT B wa AgeR 17 Tt /ama anfer 19 fedt/amm 9w see wam. A @
B g 72 fomft g0 3mR. 37q@ oM B Wa digEg e Wae, A C AN FSEen Wee. B

anfer C e s et 3R 7
(1) 10 ferdi

(2) 4 Tt

(3) 15 feeel
(4) 36 Tt

Ajay and Atul travels from A to B at 17 km/hr and 19 km/hr respectively. A is
72 km away from B. Atul reaches first at B and returns immediately and meets

Ajay at C. Find B to C distance.

(1) 10 km
(2) 4 km
(3) 15km
(4) 36 km

THeAl TS ST / SPACE FOR ROUGH WORK

A
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56. YATE T ITATGH IS Y N 9 w1 IGAM e feered! wEeat |iea.

MSB
b
XGRP — D— @—2UGP
J
® OSB
J
X’Ic‘iiR

BNLH->Q@®->®@—>?

(1) DNHL (2) BNHL
(3) BPHL (4} DPLH

Study the flow chart and construct meanings of all commands and apply them
to the given problem.

MSB
!
XGRP — (D—> @—>2UGP
J J
® OSB
J
XiR

BNLH > Q) > @ —>?

(1} DNHL (2) BNHL
(3) BPHL (4) DPLH
THEHT HIHTETG SN / SPACE FOR ROUGH WORK P.T.O.
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57. %o gUgT M hichd AEREAT FHFIR L= ATdeh FARIEL WS GHOMH gidl 317
Y AE, T iy dEie foahe g g it A aRd. 3P W e AN
Steamfl @R FEaE S SegT ITETIETE! ST 9T hell STl degl df ST gl e,
Ftftpadiean 3% qaifl SNvUIIeR Iueed STEd. STt gedh Hiasie T & qeft feugd
AT T AT grar shoarsmm ot afommens 3 Feugdid@t Taam. semesiit sftwurh
FEE SVEET ¥ A detel AvErEd! TR Tiet TYvaT TR 312,

e giesera Y@ fehy 309 yehR sFe SR vt fae.

(1) Feloefieafaltaa wE sT=m oS &

(2) g 31T i Sifaeh SR Waeht TRUTE 3t 3R

(3) e 3wd Yepresfi stvaisaehra diehleEs® AR

(4) =g Ul TR FASvETEdt JfE 96 qraT W ST TS AR

The global health is not terribly affected only by illegal drugs like heroin and
cocaine. Counterfeit medicines also cause equally severe damage. Many times
these fake medicines contain deadly chemicals and when used for treating
diseases they even kill patients. There are many alternative medicines available
officially. While these are harmless in themselves because their ingredients
are not active and they are not effective and harmless as claimed through
advertisements. Many actions are taken for handling problem of illegal drugs
but problem of fakes is not considered serious. There is urgent need to find
effective solution to tackle problem of fake medicines.

Select the option that best expresses the main conclusion of the above
passage.

(1) Some remedies other than allopathy are not effective

(2) Global health is terribly affected by heroin and cocaine

(3) Fake medicines are equally dangerous as illegal drugs

(4) For tackling problem of fake drugs there is a need to put more time and
efforts

FEEH] TN T / SPACE FOR ROUGH WORK

A
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58. @wcliel sngeid Hltwor s S s v W@ e,

M 2 78R I JSaTeA foeg JRaeR hivh HE A ?

(1) Q (2) L 3) O (4) P
Observe the following figures and select the option of correct answer.
L N O P
3 O b M a N N Q

Which letter will be on opposite face to M ?
(1) Q (2) L (3) O (4) P

59. I Wy &F fauw 1 3nfr 2 fodelt amga; s Poanfn Q & 9 Prsad amga. greten 9
e @ ARt Ingd sl @y s/ Tsed fAfvaaun Fea ade g sere
faum

1. w4 forfues smegfes amda.

2. et yay fafus s,
ey

P. w4 g i 69 7.

Q. wE g anghes Fnga,

(1) e P &1 frsed fraay (2) waa Q 7 e freat

(3) P i Q7 < frerd freaa (4) P 3nfy Q 7 Hroram fees fag 1@
In this questions, two statements numbered 1 and 2 are followed by two
conclusions P and Q. You have to take these two statements to be true and
then decide which of the two conclusion/s necessarily follow/s from the two
given statements. Indicate your answer by using the appropriate alternatives.
Statements :

1. All clerks are modern.

2. Some men are clerks.
Conclusions :

P. All modern persons ar: men.
Q. Some men are modern.

(1) Only conclusion P follows (2) Only conclusion Q follows
(3) Both conclusions P and Q follows (4] Neither conclusions P and Q follows
THeeHl hINTHIS! AT / SPACE FOR ROUGH WORK P.T.O.
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60. ST AT Yashi=t v feaurh wot welt femeh .

i weht el wolt
A %. 185
B %. 125
C %, 93
D %, 87

iy &1 A mEmed 105 fomm W s onfor W # ¢ mamed 180 e wm #. Fiv IR
aifor fopet a7

(1) 3nRm, JEa %, 2,685 W& HAEA!

(2) o, NI B, 2,685 T HATES

(3) T TREs HuEda

(4) TEHEl O E1S Yhd ATgl HRT ek feear= wepll € wredt A

The wages of the farmers in different villages for one day as given below.

Village | Wages for 1 day
A Rs. 185
B Rs. 125
C Rs. 93
D Rs. 87

Ashish works in a village ‘A’ for 105 days and Renu works in a village ‘C’in 180 days.
Who earn more and by how much ?

(1) Ashish, he earn Rs. 2,685 more than Renu
{2} Renu, she earn Rs. 2,685 more than Ashish
{3) Both earn equal amount

(4) Can’t compare the amount as the wages for one day are not equal

ek HHETS! AN / SPACE FOR ROUGH WORK

A

4
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61. aTiea 2021 =1 ufgean o=t 1 %., ga=n feamh 3 @.anfor ke feasht 5 ©.9=d ), 9 o=
9¢ & Idl. T ANt AT Sde TR TN W

(1} %.1,33,225 (2) =®.1,32,225

(3) % 1,23,225 (4) %.1,34,225

In the year 2021, Aadit saves Re. 1 on first day, Es. 3 on second day and Rs. 5
on third day and so on. Find the tetal amount of his saving in that year.

(1) Rs. 1,33,225 (2) Rs. 1,32,225
(3) Rs. 1,23,225 (4) Rs. 1,34,225
62. N-¥TH STET UEATH HIVTE T ITW S T gaTd. Tien] Toh J1a AgHi @ &
q G I g @I EA. ST WEshUTRT AR, @ URETHiAT Heen dea W R v
TSRk Frvgeiaee fane deg @ 39 geiermmt gt
3] : SIB-Ra=dl. e TEEE Wik Ao .
] : I EHEH R SRl ATE. A WIGRT 3 asTE AR
T : I SEHEA W1 GO SR, S WA I SIS IR
R TTefes o faer

(1) se-fa=d
(2) FgmE
(3) ST

(4) w9 o vgred wefe 3@ st

On an island Desh-Bhakta the inhabitants always answer any question with
two sentences — one of which is always true and other is always false. Nanu,
while moving around, meets three inhabitants and asked about their regional
food. Their replays were as follows.

Anu : Dal-khichadi. Most of our people are very creative.

Kanu : Most of our people are not creative. Vada-pav is our regional food.
Manu : Most of our people are very creative. Our regional food is dal rice.
Select the regional food of Desh-Bhakta.

(1) Dal-khichadi

(2) Vada-pav

(3) Dal-rice

(4) All these three are regional foods

ool RIS ST / SPACE FOR ROUGH WORK P.T.O.
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63. T U G ITRATET AT =i 3ferd T AR o wEt e,

o
\
¢
y
“ - %5 w ~ »
(1) C-‘f, @K 3 @S @ A

Study the following transparent paper sheet and select the appropriate single
rectangular fold that it would give.

o
D.
\
¢
\
o™~ N o™ A~

SV S, 2 3 Bl P 3 A P

Tl HHTETS! ST / SPACE FOR ROUGH WORK

A
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64. ) fomt 2 T 1 B AR, T 4id 7 SR A, o e
fer T Greren WEad § e Ao SR Tesal. el 96 TS feeaTat §eaT St Wi
Trer wig ot Reda e fer TR 39 el

a1 gfskera Feror Fom=n SR g WreteA WiETdie gaTe Wiell 9 S dArTeien 9 AT
Fequmrea wata aes 3@

5

(1)

TG

4

»(3)

EE

b

1
/_/ %
= - (%)

oy

I

The drawing shows the cross-section of two containers. Lower container is used
for storing liquids. A liquid from upper container trickles down at a constant
rate in lower container until the liquid is at the base of the neck of the container.

After a short time lapse, more liquid is allowed to trickle down at the same
constant rate, till the lower container is full.

Four children watching this process, produced following graphical representations
to show the change in relation between depths of the liquid along with the time.

Select the graph from following options that is most close to the observations.

1\ lr A A

=

£ < =

g ) 2 5

o O L A
A a) A

(n : (2} : »(3) : » (4) _
Time Time Time Time
THESH] HIRTETS! ST / SPACE FOR ROUGH WORK P.T.O.
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65. TF[ AITSAT SSISATT G9 Foied! GIAGT el Thiue Fd;<d1 SIUehIaR e Hefl, v fo=h
foreT wora vt amfon e o S ARvita qrETeagER fowd ae. wdier femamer fhan wd
Temwremr fofaereht T atet @@ 3@ 18, YaR 9 TTTE! TR WH T9aR 9 §Has
THYT T ST B B e e g, WREw i aresarE! v e Sman @ guare
THHUET TG STHeIT=E fael smead a1,

fmm REen]
e 52
TR 41
ISER 25
FYAR 18

(1) Wram=h Y Fmare AT TR IR

(2) THIRE A FTST=IT ThHEUET e 318

(3) TR TN U THEUET JTE 3R

(4) FuaRE WY TIETT THAET S TR

Sonu recorded the amount of pocket money that she did spend during last week
on her computer. Her data got mixed up accidentally and now her table, shown
alongside may not show the correct amounts next to some or all of the days.
She remembers that the combined amount of Monday and Tuesday was more
than the combined amount for Sunday and Wednesday. She also remember that

the combined amount for Sunday and Tuesday was more than the combined
amount for Monday and Wednesday.

Select the only false statement with respect given information.

Day Amount
Sunday 52
Monday 41
Tuesday 25
Wednesday 18

(1} Sunday’s amount is more than Monday’s amount
{2) Monday’s amount is more than Tuesday’s amount
(3) Tuesday’s amount is more than Wednesday’s amount
(4) Wednesday’s amount is more than Sunday’s amount

THoodl FHIHTATS! AT / SPACE FOR ROUGH WORK

A
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66. UERISY Qe dihaal gFp Haw, 2015 =91 He| 21 378, THR ardt
g fadf= AT R,

(1) "effima srfemearean seamomad
(2) weRERE wfrmaen e
(3) el srfremm=arear weomard
(4) STt FTEE T

Under Section 21 of Maharashtra Right to Public Service Act, 2015, the
Government shall allocate adequate funds for .

(1) For the welfare of designated officer

(2) For salaries of designated officer

(3) For the training of designated officer

(4} None of the above

67. WENY TIHyal g9k AUMFH, 2015 =7 IEETH S #7a.

HeH RACG
H 6 i adie
9. 7 i, It srfemr=ar=ht faeh
# 8 jii. cierEEr qvgrEdt miEd) dEmEET 9T %
5 9 iv. = R qrof

(1) A-i &-ii H-ii s-iv
) H-i §-i H-—iv B-iii
(3) H—iv W—iii H-i B-i
4) F—iv "-i ®w-ii S-ii

~

Match the following regarding the Maharashtra Right to Public Services

Act, 2015.
Section Provision
a. 6 i. Appeal
7 ii. Appointment of appellate authorities
c. 8 iii. Use of information technology for delivery of public
services
d. 9 iv. Monitoring status of application

(1) a-i b-ii c¢-iii d-iv
(2) a-ii b-i c¢c—-iv d-iii
(3) a-iv b-iii c¢c-ii d-1
(4 a-iv b-i c-iii d-ii

FoAT TS J0T / SPACE FOR ROUGH WORK P.T.O.
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68. WeEWT @rhan arfufem, 2015 =3 arfia Fereht SeaT g&T sngE fhar s

-.
o

34

¥, N T Ao UK A Fee e A,
F. N T AT WRAT 168 % IehdTd.

(1) e 3 AN § | 313
(2) Had I MM % W AR
(3) o & M W MR
(4) 319 % §d @ A

B17

While deciding an appeal under the Maharashtra Right to Public Service Act,

2015, the Chief Commissioner or Commissioner can

a. impose penalty on Designated officer or First Appellate Authority.
b. change the penalty imposed on them.

c. can revoke the penalty imposed on them.

(1) Only a and b are true

(2} Only a and c are true

{3) Only b and ¢ are true

(4) Alla b c are true

69.

HERTSE ATHEET g AURM, 2015 I1 dREe SI0ed 31Tl

(1) 15 3= 2015

(2) 21 3 2015

(3) 28 3= 2015

(4] 28 ¥ 2015

The Maharashtra Right to Public Services Act, 2015 came into force on
(1) 15™ August 2015

(2) 215t August 2015

(3) 28t August 2015

(4) 28t April 2015

oo HIFETE! SFT / SPACE FOR ROUGH WORK
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70.:mwmwmﬁwwwma%ﬁmmwﬁwwﬁﬁmmmm,
reries it aifedt sl sfufem = wem 8(1) A=l 3varg Fee aifad arRva

TET &g Tehd.
1) foum ses 38

{
(2)
(3) Torem stre 31 Wy g Arfed) sgaTe FRdHAE I8 B As
(4)

4) SR FEE TR

Public Authority may allow access to information exempted under Section 8 (1)

of the RTI Act, if public interest in disclosure outweighs the harm to the protected

interests.

(1) the statement is correct

(2) the statement is correct but it can be done only after approval of
appellate Authority

{3} the statement is correct but it can be done only after the approval of
Chief Information Commissioner

(4) none of the above

71. WfEE FARER HrEEr, 2005 T B FRIEE! A0 T ?
(1) wfedt T3 g, 2000
(2) wfed @ SrEE, 2002
(3) fwem e, 2002
(4) aerdht FTEE e
The Right to Information Act, 2005 replaced which Act ?
(1) Information Technology Act, 2000
(2} Freedom of Information Act, 2002
(3) Delimination Act, 2002
(4) None of the above

THol HIHTETS AR / SPACE FOR ROUGH WORK P.T.O.
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72. HENS AU g6 AATH, 2015 3 heldll 319 themseard JH S91 S¢H Hogrd fae
oA e YuH ety wfteerrene arfie e wiemal, wem srdieftr arftreerd) 2

(1) vefelm aftmrr=am afts srwdrd

(2) T ‘W A e HY ot Aged il arard

(3) TR & eI qHehEl guie ITEdT

(4) o0 78 FU

In case of rejection of the application under Maharashtra Right to Public Service

Act 2015, or delay in rendering the services, the applicant can file first appeal
before the first appellate Authority who is

(1) A senior officer to the Designated officer
(2) An officer not below the rank of Group ‘B’
(3) An officer equivalent in rank of Group B’
{4} All the above are correct

73. Wizt AR wrE1, 2005 =0 gedia @efer faamm favaw su.
3. HIvETE AT arfadiandt 3t %% e
q.  IISGRIAT ATEAETS! R0 T8 HUE AR,
F. ANECE! W aeseedn aaist gaia g Y.
it e faum /3 stear,
(1) foum a1 9 % ¥ 3meq
(2) faum a9 % g% amed
(3) wua favm § 9% T2
(4) P f3UT & ¥F I

Analyse the following statements with reference to Right to Information Act,
2005.

a. Any citizen can apply for information.
b. The applicant needs to state reasons for acquiring information.
c. The requested information shall not relate to exempted matters.

Which of statements given above is/are incorrect ?
(1) statements a and ¢ are incorrect

(2) statements b and c are incorrect

{3) only statement b is incorrect

(4) only statement c is incorrect

oAl HHTETS! AR / SPACE FOR ROUGH WORK
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74. wigd=T AR AfafEm, 2005 AR A= o

B17

A

A 6 i. agfua sEEe SRy TR R

g 12 ii, |EUTEATIES Heled FHedHT T

%, 21 iii. e '

8 26 iv. g wrfedt FEE g
H o & T

(1) ii iv i 1

(2} v il i i

(3) it i il iv

(4) 1 i1 iii iv

Match the following regarding the Right to Information Act, 2005.
Section Provision

a. 6 i. Appropriate government to prepare programmes

b. 12 ii., Protection of action taken in good faith

c. 21 iili. Request to obtain information

d. 26 iv. Constitution of Central Information Commission
a b ¢ d

(1) ii iv il i

(2) v @i il i

(3) # i1 il iv

(4) i i il iv

75. wifed! AR sy, 2005 =11 we| AR S wweT srede sgsafast st

ATt et e AT miftet Tet s/ W A foAd o fissten aRm
TTETAT 37 WEH sheft STge.

(1) 5(1), 72
(3)

(2)
(4)

6(1), 60
7(1), 48 8(1}, 84

As per section of the Right to Information Act, 2005 if information sought

which is concern with life and liberty of any person, the same shall be provided

within hours of the receipt of such request.
(1) 5(1), 72 (2) 6(1), 60
(3) 7(1), 48 (4) 8(1), 84

ol T S / SPACE FOR ROUGH WORK

P.T.O.



ey 38 B17

76. IR wagd! wiefmaim 2017 Sevmdl wd ufge guam v o gemE shm

S 9y HeT ?
(1) feear (2) s
(3) cferm i (4) SiTer &

The Indian women’s team defeated which country’s team in the final to win the
Asian Kabbadi Championship, 2017 ?

(1) Pakistan (2) Iran

(3) South Korea (4) Bangladesh

77. WLW 2022 TY YRAR AeATd @A Feied g @ @ fameid v gde faumidsh g
faum wrht o afieE.

. fo=n smraer i feands sgUe a=eer 3.

5. folt siuoft e frend fafies 3 &eft am.

%. ot Hood: WA Feemed TrEe seft g

3. fedet catem SR wfw S

(1) &9, %% 2) 3, %, 3
(3) #, 9 (4) 9,38
Which of the following statements, about INS Vikrant Commissioned in Indian
Navy in September 2022 are true ?

a. Itis designed by Warship Design Bureau.

b. It is built by Cochin Shipyard Limited.

c. Itis originally commissioned by Russian Navy.
d. The ship is powered by diesel turbines.

(1) a,b,c,d (2) a, ¢, d
3) a,b (4) b, d

oo HIMTETS JRT / SPACE FOR ROUGH WORK

A



o0 39 B17

o
78.&%%3&%@%@@@@%,%%@ forvmmaTda g% sheft
(1) mm&@awﬁmﬁ
(2) @ISR =T S Heriehtor fam
(3) 37 fshar e forqm
(4) wmiRdwes faam

Pradhan Mantri Bharatiya Janaushadhi Pariyojana (PMBJP) is launched by
Department, Government of India.

(1) Department of Health and Family Welfare
(2) Department of Social Justice and Empowerment
(3) Department of Food Processing Industries
(4) Department of Pharmaceuticals
79. mmmmwmﬁﬁwm,mﬁﬁmwma
H. femeft - 2 2= 31w A7 sfen
g, WS - 99% WA Hg 1% s
%, wEgy - Teg 2180 3
3. S AT SR - | A6 g™ aEy
(1) A, 9, =, € (2) A, 9,5
3) &, 4 (4) 9,
Following are the pairs of Indian Union Territories and their tourism taglines,
which one of them are incorrectly matched ?
a. Delhi — The Hub of North India
b. Ladakh —99% Fun and 1% Land
c. Lakshadweep — Give time a break
d. Jammu and Kashmir — Land of High Passes
(1} a,b,c,d (2) a, b,c
(3) a,b (4) b,c

80. YN Hferdish Toe-MTha HeEil 2018 AL JAAENT Y W& e 23 = fgaredt
Fiferdies Hed o 2 fvm’ v ydiadehl wivmeh frag woema el gt 7
(1) 3. T (2) T
(3) WEE. e ggl (4) TR Ul
Who was appointed as the ‘Chef De Mission’ by the Indian Olympic Association
for the 23 Winter Olympic games held in Pyeongchang in February 2018 ?

(1) R.K. Gupta (2) Harjinder Singh
(3} A.V. Narayan Reddy (4) Muralidharan Raja
Tl HHETS! SRT / SPACE FOR ROUGH WORK P.T.O.



LI I.$
H

81. fEM oMM T oMM 39 fog <t g ot TR, e A
(1) Toam wam anfn foam ot

(2) @ € "I s g 9=

(3) @ & FEEE Il & < TR

(4) & & gow aufr § & o

40

B17

The Department of Science and Technology launched two science channels

namely

and

(1) Vigyan Prasar and Vigyan Darshan

(2) DD Science and India Science
(3) DD Innovation and DD Direct
(4) DD Sulabh and DD Darshan

82.

Sreen @ (5re1 TR, 2018) :

37 (ariar)

Teita T @ T TR
O R

o
T,
F. AT TERR
g

EE JEHT
A T *H

(1) iv il
(2) iv il
(3) i iv
4) i i

i

ii
i
iv

i

il.
1.

iv.

Match the pairs (Sports Awards 2018) :
‘A’ (Category)

a.

b. Dronacharya Award

c. Arjuna Award

d. Dhyan Chand Award
a b ¢ d

(1) v i i ii

(2) iv il i i

(3) it v i il

4 1 il v i

Rajiv Gandhi Khel Ratna Award

i.
ii.
1i.

iv.

& (fosam)
femt <

L C I
o wt

wd. firms =

‘B’ (Winner)
Hima Das
Satyadev Prasad
Vijay Sharma

S. Mirabai Chanu

FoeAT TRIATHG! AT / SPACE FOR ROUGH WORK
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83. ydletdeh! 3 SEam Hivre o forar.

YT S T AEe SAITET AT
3. e Higd i. fooa wER
g, %4 Hgd ii. it
%. 3 Jied iii. AHM-31-9ER
g RA Aied | v, a8
(1) # 9, %, (2) 31, %, 8
(3) & (4) %3
Which of the following are incorrectly matched ?
Name of country Name of Joint Exercises with Navy
a. US Navy i. Vijay Prahar
b. French Navy ii. Shakti
¢. Oman Navy ili. Naseem-Al-Bahr
d. Russian Navy iv. Varuna
(1) a, b: C, d (2) a, b, d
(3) b,c (4) ¢ d

84. WA Yawa™ Wiy " o === wsgueht 3t Rmfi a=h s wiweme ve gef

St 20 firar aftwe 2017,
¥, w7 fmew aftyg 2017.
. form Rrex ofg 2017,
(1) % A, 9 (2) % E, ®
(3) W A, h (4) 0« T4

India’s Prime Minister Narendra Modi and Chinese President Xi Jinping met on
International events were

a. G20 Summit 2017.
b. SCO Summit 2017.

c. BRICS Summit 2017.
(1) Onlya,b {2) Only b, ¢

(3) Onlya,c (4) All of the above
FHoAT HIHHS! ST / SPACE FOR ROUGH WORK P.T.O.
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85..%Wmmﬁédfﬁagaﬁa%umﬁﬁ@vﬁﬁﬁaﬁwaﬂ%ﬂ?
. e TOET femT-3I9-geh 3EE @ A et
g, I GEERED W od, 89, JUTIEET M gang a9 g,
. AgrErg eeHTeT YA faferfieomht s O weta 3.
3. T gen e wwaer St ave adm g e et foen st fosm’

TEUITE ST,
(1) A, 9, %, (2) #A, 9,
3) =, 3 (4) A, =

Which of the following statements about Hyderabad State are true ?

a. It was established by Nizam-ul-Mulk Asaf Jah.

b. It had its own railway, army, postal system and airline network.

c. ‘Operation Polo’ is related with annexation of Hyderabad State into India.

d. ‘Operation Vijay’ was the name of armed action to annex Hyderabad

State,
(1} a,b,c,d (2) a,b,c
3) ¢ d (4) a,c

86. TH UHYS THH &Ahe 990 =.UH IR, WA T HIE AW 36 I FEeAH gEA

U T e
(1) 55 @ (2) 27.5 @
(3) 110%h (4) 283

The area of rhombus is 990 square cm. If length of one diagonal is 36 cm, then
find the length of other diagonal

(1) 55 cm (2) 27.5cm

(3) 110 cm (4) 28 cm

oAl KT AT / SPACE FOR ROUGH WORK

A
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87. Wielieiish! qremrest Bigpe foredt ama ?

(9,40,41), (3,4,6), (8,15,17), (5,12,17)

(1) 1 (2) 2

(3) 3 (4) 4

How many Pythagorous triplet are from the following ?
(9,40,41), (3,4,6), (8,15,17), (5,12,17)

(1) 1 2) 2

3) 3 (4) 4

88. T TEAM TOIRK 3 : 4 38 9 <] TGS 84 38 qT T TG iU ?
(1) 18,24 (2) 21,28
(3) 24,32 (4) 30,40
Two numbers are in the ratio 3 : 4 and their LCM is 84 then the numbers are
(1) 18,24 (2) 21,28

(3) 24,32 | (4) 30,40

89. THI AR 4000 T ol 8 TG I het 9 Fedsh gward o Aefi=a geamis 50 & s
faet, W afeen gwa freft T B ¢
(1) 375 %. (2} 425%.
(3) 325%. (4) 300®.
A person borrowed a loan of Rs. 4000 and paid back in 8 installments. Each

installment is more than the previous installment by 50 Rs. then what is the

amount of first installment he paid ?

(1) Rs. 375 (2) Rs. 425
(3) Rs. 325 (4) Rs. 300
mw@m / SPACE FOR ROUGH WORK P.T.O.
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90. .3 =1.732 IO W G wdiwwnE fhra #e

Jﬁ—é—@—ﬁ

(1) 6.928 (2) 5.196 (3) 1.732 (4) 3.464
If V3 =1.732 find the value of the following

ﬁ_%m_ﬁ

(1) 6.928 (2) 5.196 (3) 1.732 (4) 3.464
91. it TR fFHg HIer
(0.654 x 0.654) - (0.596 x 0.596)
0.654 - 0.596
(1) 1.15 (2) 1.25
(3) 0.058 (4) 0.389784
Find the value of the following
(0.654 x 0.654) - (0.596 x 0.596)
0.654 -0.596
(1) 1.15 (2) 1.25
(3) 0.058 (4) 0.389784
92, 3T STG=AT YSTea eTale TN 5:3 38 § & 3ad &9t 29.4 =, It 38, @

1 AT A 9 7S T

(1) ot = 7 ot 9 2 = 4.2 ot

(2) @l = 4.2 Taft 9 v = 7 ot

(3) @t = 7.2 Gt 9 % = 4 A

(4) et = 4 T TR} = 7.2 A

The ratio of sides of rectangle is 5 : 3. If area of rectangle is 29.4 sq.cm, then
find the length and breadth of rectangle
(1) length = 7 cm and breadth = 4.2 cm
(2) length = 4.2 ¢m and breadth =7 cm
(3) length = 7.2 cm and breadth = 4 cm
(4) length = 4 cm and breadth = 7.2 cm

oA HIHTETE! TP / SPACE FOR ROUGH WORK

A



93. 3x% - 8x? + x + 7 W WETAN x — 2 AT TEIGH HYAUH UGHA WM FHIT I
ST = WIS X WOTRET + |Tehi 91 ®91d To1aT.
(1) 3x3-8x2+x+7=(x-2)(3x2+2x+3) + 1

(2) 3x3-8x%2+x+7=(x-2)(3x2-2x+3) + 13
(3) 3x3-8x2+x+7=(x-2)(3x2+2x-3} +1
4) 3x3-8x?+x+7=x-2)(Bx2-2x-3)+1

Use synthetic division to divide 3x3 — 8x2 + x + 7 by x — 2 and write the answer
dividend = divisor x quotient + remainder

(1) 3x3-8x2+x+7=(x-2) (3x2+2x+3)+1
(2) 3x3-8x?+x+7=(x-2)(3x2-2x+3)+13
(3) 3x3-8x2+x+7=(x-2)(3x%2+2x-3}+1
4) 3x3-8x%Z+x+7=(x~2)(3x2-2x-3)+1

94. uw Fepmen 99 13 wft, 14 @t 9 15 oY, odd W 1 B SEwe Se
(1) 105t o (2) 84 =, ot
(3) 91 =t &t (4) 21, ot

If length of sides of triangle are 13 cm, 14 cm and 15 cm respectively, then find
the area of triangle

(1) 105 sq.cm (2) 84 sq.cm

(3) 91 sq.cm (4) 21 sq.cm

95. TET TR 3 10% it i hell 9 7 aofiged 91 20% -t Jrefeen | e wra fhdt

TFh AIG FISAT 7
(1) 12 (2) 9
(3} 8 (4) 10

Raju’s salary was first reduced by 10% and then increased by 20% due to
upturn. So what percent increase in original salary ?

(1) 12 2) 9
(3) 8 4) 10
aﬁwmmzﬁam / SPACE FOR ROUGH WORK P.T.O.
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96. WA AEAHE A AOB = gt foet ?

A 12 &t D
Q 5 @y
B C
(1) 8.5 @ (2) 17 @t
(3) 18 @sft (4) 34

In following rectangle, what is a Perimeter of A AOB ?

A 12 cm D
0 5 cm
B C
(1) 8.5cm (2) 17 cm
(3) 18 cm (4) 34 cm

97. TF HIVE AT a1 TAT=AT SAT=A1 foode o= 3R, 12 auiqdl af 3o qare aar=ar 4
Ue g BT, R g AT feadt awi=n omg P

(1) 40 (2) 30
(3) 45 (4) 36

A man is now three times as old as his son. 12 years ago he was four times as
old as his son. How old is son now ?

(1) 40 (2) 30
(3) 45 4) 36

ToeAT HATHETS! ART / SPACE FOR ROUGH WORK
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98. 5, 7, 20 It favrsw rmeren wata g™ qUiie o ?
(1) 35 {(2) 200
(3) 280 (4) 140
What is the smallest integer that is multiple of 5, 7 and 20 ?

(1) 35 (2) 200
(3) 280 (4) 140

99. TH %M U FIAME AN 6 femw e, 79 HW woad! HAer 12 fag wmam ™
e 4 feom o, foeft freg o m Sermm @ W o femema e ?
(1) 3 T (2) 2 fem=
(3) 2.5 feam (4) 3.5 feam

Leena can complete some work in 6 days. Meena takes 12 days to complete the
same work. And Teena takes 4 days to do the same work. How long will it take
to complete the work if all the three of them work together ?

(1) 3 days (2) 2 days

(3) 2.5 days {(4) 3.5 days

100. wY TEE TUEH 25 R, S rATdid 91 @89 30, 29, 25 9 20 IHdA 0 AT

o Wi |egr! auadt s ?
(1) 26 (2} 27
(3) 28 (4) 29

The average of five numbers is 235. If four of the numbers are 30,29,25 and 20,

then the average of the three larger numbers is

(1) 26 (2) 27
(3) 28 (4) 29
mmm { SPACE FOR ROUGH WORK P.T.O.
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(8) Wﬁﬁwwmﬁw(mﬁ)m et TR a1 3w
FTTETR o FIH HeA 3 HId FOATHT I H 3B, I TAS TS T AR IACATR ARG
it e ohame) gon=n NusTE Sfiwy woaEEa sfufEr-g2” ardie adigEn Srar
FUAT IS o Yl ARl HATS Ueh auTAT Hrrendrean T/ fhar v U B e gere e
IH BIgA.

(9) T THIRRFEE FARH fafkd Sl 9% Tucaria IREET € TR T et GHaThTsIat

S TR TR T8, T Qiiet et SvaE SHeawH 3T0e ITu e qHT- 1 TagThies A
fore wa ol atavEe IR,

AT
9.%. 201, Gl 96T A% HOAEIE! Rl qAd: WA HA 7
(1) Tt g qeead! (2) svarg fEmEmR
) TS THEIEA WA (4) TIITGEES TR

N 9 39 () U THEEA T W R, TS 91 W S (3)”
B, IrEd WA 7% . 201 FEE sr-war (@) ¥ g i
BRI e grafaul EvEs R,

vw%20.. O @ @ @

T g W FHGhdle Yeieh WS HTT St-shHTeh &1 qraTell Tasical
qfaeeaT ITWEHIRIS 1 &1 TH-FHEHEAKIE Taiid age Yool STaifhd Hed
TRAATET. FThAT tak ThTesal VIS sieTu+ aTar, U = = U e =4,

THeed] HIMTETS! 9N / SPACE FOR ROUGH WORK




